EARAROBEEIERT — 2 N— IBISH —F

20145F8A5H () 10EI£R1H

mﬁ%ﬁg,ﬁgﬂgxﬁgu A3 HS5H—fiE (xwlw | mEmml - v ) w8
[A~&£] 1 7% :400,000 @ ~ 23%:80,000" ~ 37#&:36000MH  43%&:28,000H  53&:16,000 M
& B BESR N MHE B¥ (F8) #4L (B%) | BBIERL | F3F |SIEH | AR | BRE | BB FRE) / BE / £ERS
=P I BEEth : ~3-4- — RERE (£)
(B 5| xTFRT AR e IR0 rEe | v 58 ol e T
LT N=HAL b= BiTIAFATYS HE K
5 | xTv—gF - # 5 ??%IE% 1(:13/72.>3 2-2--1 |40.7| — 5 | 462 ;QJ;};{% (&R
L:Vrx=af>r B:7rpvarra— (=2) TE BB
s 7e-sro R T e E R e =
SVWN=F v —L B:XT4—bINT HEARS
N > PIECEE S # 8 ;ké%%ﬂ 1:(327).7 8-7-7-6 [39.3| — | 3 | 466 ﬁig;]’%w(f;g)
LRUILA—F BT4-UT M- ® | appg
507l10l T-v>F35> H 6 ;lgqai 1:(317).9 === 416 — | 7 | 47t gﬁﬁﬁéé (&3R)
2T bE =Ty —K—F BI I VaTS 2| s
6 AR R AN o4 | FRBA (11:318/.21) 6-6-8-8 |39.8| — | 8 | 479 i}?ﬁi t&(ﬁ‘}R)
RT7TaF1r=714>9 B:buk-—%tX 0 | pasengig
75| 5| Fea K Ho4 Sé;%%/% 1(73?:>2 7-7-9-7 |39.8| — 1 433 ?E?g% (&iR)
LTINFRSL2 BTV AT 2 | memss
glslg|v1>7270=— Ho4 g’é’?{)ﬁ& 1:(328).6 9-10-10-9 | 40.0| — | 10 | 443 %g;‘g% (£iR)
LRFAT—NE B KF—NTO-F> 02 1E 50, kp—i
olgli1| ZEYXrITay it 4 5731%;%3& 1:(318).8 3-3-3-5 |41.9| — 4 439 %ﬁff_rfa(%é% )
QA-NEFY1- BA-OTRILaY 02| L oS s hmEmnRa by uK
oWl 4| V—>YI>E— #o6 | RER 1(:13/82.)9 10-11-12-11/39.8 | — | 12 | 492 gﬁlﬁgz (&iR)
v/ by THY BEURTUSEZR 0 e 57,4
il I x=nro0—> 5 | BELA (11319/2% 12-12-11-10{ 40.3 | — | 9 | 421 Eglﬁugéﬁﬁ
RiYrIA-LIL B:RTYLT4-0OF ) gm =—
12l7lg|O—KROY Y %9 | EBen (17::2;3) 4-3-6-12 [45.0| — | 11 | 429 iggiééﬁ)
ROy IATITINEIN B:iLF 1 NXFI 8 k7 Farm
@ 11— 7 —&EBIEL
1 2=zr= 10,12,11,9,3,7,5,2,6, (4,8) ,1
2I)=7r= 10,12, (3,9,11),7,(2,5,8) ,6,4,1
83—7— [10,12,11,3,8,9,2,7,5,6,1,4
43—7— | (10,12),3,8,11,2,5,7,6,1,4,9
0 HRE
BB 3 1,770M | | 74 K 3-12 1,790H #e E 3-8 2,790M 3ER 3-8-12 9,700/
B B 3 390M 3-8 800M B B 3-8 10,530/ EE 3-12-8 95,140M
12 430M 8-12 620/ B = 3-12 5,100M
8 200M B B 3-12 23,350MH

ABICOVWTRDTEEERROODE. TR LIV,




